EERERENRGRE=4) VAR CEREE15E)ER
(£5F3E8HA16E~9A 16 AEM)

RF DK E B RAE (RHHRYD)
BERKERAEAR (RF AU

BESS FREREFAEME(U Sv/h)
- 50 M sBO RE-BHES
No. | HATH E5 SRS i (R 48RO F ) %
im & 14 Sm 148 M 148
PEHR | AERE | AR | HERE | AEHE | TR
50cm 0.09 0.10 0.07 0.08| EFIERBEOMEN -, EBODHAIE
1140 EEHAKET  |[REE STIILREER 9A9H [RE-BEEZ] mTILIVRATIVEERDRES
1m 0.10 0.10 0.07 0.08|(FRLFYHI I TH)ZEELLTHER
o 50cm 0.07 0.07 0.06 0.06 .
141 | FEEHRET  |REE IA—Far-FT4-H—T> 9A9H EFERBEOIEN=H. REODHAE
1m 0.06 0.06 0.06 0.06
) o 50cm 0.07 0.06 0.06 0.06 0.06 0.07
1142 |[FEERET  |CZELE HKHIELE 9H9H
1m 0.05 0.06 0.05 0.05 0.06 0.07
) ‘ 50cm 0.06 0.08 0.07 0.08 0.08 0.09
1143 JEEARET  |CELE VFEDOYIELE 9A9H
1m 0.07 0.07 0.07 0.08 0.08 0.08
50cm 0.07 0.07 0.08 0.06 0.09 0.10
1144 |FEEARET  |/MVER FEH RET LR/ 9A9H
1m 0.06 0.07 0.07 0.07 0.09 0.09
50cm 0.07 0.07 0.07 0.07 0.08 0.09
1145 |[FEEARET  [/MER BHEAREL RN 9A9H
1m 0.06 0.07 0.07 0.07 0.08 0.08
50cm 0.06 0.08 0.09 0.10 0.09 0.10
1146 |FEEARET  |/MER BEARELEER/NER 9A9H
1m 0.06 0.09 0.10 0.11 0.09 0.10
50cm 0.07 0.07 0.10 0.10 0.10 0.10
[IEF] FLEIEM
1m 0.07 0.07 0.10 0.10 0.10 0.10
1147 [BERET |/ KBTI VR AR T T -
50cm 0.07 0.07
[IEF] m{AIEM
1m 0.06 0.07
50cm 0.07 0.08 0.09 0.08 0.07 0.07
1148 |[FEEARET  |/MER HEHRETIL TR/ ER 9A9H
1m 0.08 0.07 0.08 0.07 0.07 0.07
50cm 0.07 0.06 0.07 0.08 0.09 0.09
1149 |FEEARET  [/MER HERETIHE /MR 9A9H
1m 0.06 0.07 0.08 0.07 0.09 0.09
N . 50cm 0.08 0.08 0.09 0.09 0.08 0.09
1150 |FEEAHT [Pk HEHRETLER PR 9A9H
1m 0.07 0.08 0.10 0.10 0.08 0.09
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EERERENRGRE=4) VAR CEREE15E)ER
(£5F3E8HA16E~9A 16 AEM)

RF DK E B RAE (RHHRYD)
BERKERAEAR (RF AU

AEES EREEE AR Sv/h)
@wx | 50 EFS fk0O PR Bz
No. | THATH 2% FRELH BE | Som (R - 4FRDF19{E) %
bl s | #14m [ sm | mam | 4@ | miam
REGER | AERBR | AEER | AEER | AERR | ATKR
50cm 0.08 0.08 0.08 0.08 0.08 0.09
1151 [JEAT it HERIT T EE PR 9598
1m 0.08 0.07 0.09 0.08 0.08 0.09
50cm 0.07 0.07 0.07 0.08 N
1152 |IEEAT it HERIT RS R 9598 [ e EAES ] TEFISEYMERT
1m 0.07 0.07 0.07 0.08
L L 50cm 0.08 0.06 0.07 0.08 0.08 0.08
1153 (HERET  |BEFR EEAER 9A9H
1m 0.06 0.06 0.06 0.08 0.08 0.08
N - 50cm 0.07 0.06 0.09 0.09 0.08 0.09
1154 [IEEAT  |RAIREER HERTEER 9798
1m 0.06 0.06 0.08 0.08 0.08 0.09
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